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60

As each angle is 60°, six angles 
will fit together at each point to 
make 360°.



60

90

At each point, three triangles and two 
squares will fit perfectly together, as 
(3 x 60) + (2 x 90) = 360



108

As each interior angle is 108°, three regular 
pentagons at a point would be 324° and not 
leaving sufficient space for a fourth pentagon

540 ÷ 5 = 108



120

720 ÷ 6 = 120°

Yes,
Three regular hexagons can fit together 
perfectly at each point as 3 x 120 = 360



9. Circle the shape that tessellates.

regular heptagon 

regular octagon 
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